23

PIONEER FLURD POWER

HIGH PRESSURE GEAR PUMP

BAP1 [BHM1

fnfT/ HOW TO ORDER

BA_P~1_ETJ§§_ﬁﬁﬂ_ﬂﬁ_ﬂ{*_ﬁﬁﬂdmm‘tﬁdiﬁﬂ_ﬁlﬁlﬁ
Front cover Rotation Size Shaft Ports Ports position Seals Options

I I I I I
E5e P- 8RR a5 B 0 (e 1 4% 14
Series Pump Group Clockwise 24

BA-8I. FE | |M-E8T% A0 fuikstaead 28
WEAEEE Motor S| Counter 35
BA—dem and % clockwise a1 A3 / Options

end cover
WERS 52 Hl% | Drain

material R 2
aluminum Reversible 6.2

BH- f, E&H 76 QO-PoE0#EE / internal drain
itk EAILBA 93 Q1-5Mtkil | extemal drain G1/4
ASIR bar o " Q2-BHA / extemalcrai 7/16-20 UNF

BH-Front and | ) )

end cover material 138 Q3-SvaHkih / external drain 9/16-18 UNF
cast iron,

pressure than

‘BA'series high
30 bar,

mOuE Ports position

HR-fR M Omit-Side inlet and side outlet
A-RUHA A-Front inlet and front outlet
B-Rittdit B-Back inlet and front outlet
C-Fit C-Back inlet and side outlet
D-fl#Rid D-Side inlet and front outlet
R-RitEH R-Back inlet and back outlet

M Seals

HB-BESEEE-10C~+80C i M DR AR E N A 3bar, Omit-Range between -10'C and +80C,inlet pressure up to max, 3 bar absolute,
V-BRTERME, REEEE-10C-120T, V-Version suitable for fluid at hi-temperatures, range between ~10°C and +120C.
H-BRTFRENR, REEREE-40T-+80C, H-Version suitable for fluid at low-temperatures, range between -40'C and +80T.
H-BRTFERAR, REGEE-40C-+80C, T-Version suitable for inlet pressure up to max. 3 and 6 bar absolute.

N-iZ A Fittih D RALHENI-10bar, N-Version suitable for inlet pressure up to max. 3 and 10 bar absolute.

3B/ Examples:

BAP1-B0-D-14-TO-E0=  JiRI§HE, #2 14 corev, BOBE, TO1:HEMME, COREMA,

clockwise rotation, 1.4 cc/rev, BO front cover, 1:8 tapered shaft(T0), sefting ports EO type, standard seals
BAP1-A0-D-14-CO-R0= MRS, HEE 1.4 cohev, AOBTE, CO MK, ROSEMO, i

clockwise rotation, 1.4 ccirev, A front cover, CO parallel shaft, setting ports RO type, standard seals
BAP1-Q0-D-1.4-C2-U0-N= MERi$tH, & 14 colrev, BOBIR, C2 MEMH, U0 ZEMlO BERHN)

clockwise rotation, 1.4 cc/rev, QO front cover, C2 parallel shaft, setting ports UO type, high pressure seals(N)



HIGH PRESSURE GEAR PUMP

M6 B3R 13. M6 thread depth 13.
S v b ) ZRRE, n4M8 BITAERTH To mount the pump, n.4 M8 screws,
“; 8y ! 273 Nm. with a torque wrench setting fixed
& . i W10 SRS 40 N, 227 3Nm.
" I L Shaft M10 nut, with a torque wrench
% ﬁ setting fixed at 40 Nm.
s @i ‘ 7 g
| Y
Hin #m0
OUTLET INLET
88 M %
L
55 n4Me 5% n.4 Ms 165 115
n465
A
8 L=I‘=FT 1 | ™ Q- <
3 = | - - - —E- =
§ _f';\ [ 3"\ gl o = f'; /:I‘\ 3\_
| \.K SJ \( \}I
A Y s
H— L
| M10x1
E H - =18
13 66 13
AA 30 30
305
_.-rr—_—
)
&
g HeE BAES REEE afidi0d R+
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P3 M L
br b b
BAP1B0-D-14 14 250 270 200 6000 800 805 40
BAP1B0-D-2.1 21 250 270 20 6000 800 825 4
BAP1B0-D-28 28 250 210 290 5000 800 845 4
BAP1B0-D-3.5 35 250 21 200 5000 800 865 8
BAP1B0-D-4.1 41 250 270 200 4000 800 885 44
BAP1B0-D-5.2 52 20 245 260 4000 800 915 455
BAP1B0-D-6.2 6.2 230 245 260 3800 800 %45 41
BAP1B0-D-7.6 76 200 215 20 3200 600 95 49
BAP1B0-0-9.3 93 180 195 210 2600 600 1035 515
BAP1B0-D-11.0 1.0 170 185 200 2200 600 1085 54
BAP1B0-D-13.8 138 150 165 180 1800 600 116.5 58

24



25

BAP1A0

DHEIRRAMT, AOKE

HIGH PRESSURE GEAR PUMP

"D" and “d" ports are machined in

‘ B4 EMIH FAISAE J1926/1 compliance with threaded port with
(1SO J1926-1), 0-ring seal in truncated housing
> ZRRE, n4M8 BTHERT S SAE J1926/1(1SO J1926-1).
' 27+3Nm. To mount the pump, n.4 M8 screws,
¢ | ' with & torque wrench setting fixed
' at27+3 Nm.
il ##n
OUTLET INLET
102 M 27
64
82.55 L 19
125
oAl L = _
g L] L o C % L | m
E Q — c‘_u__ 5 o l —
g [— ea
o { 0 N | g %Lr 1} 5
d 66 D
ﬂ 1
3.18
e HE RRER BARE RiR&E Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
BAP1A0-D-14 250 270 290 6000 800 825 | 42 PT1R2 PT38
BAP1A0-D-2.1 24 250 270 290 6000 800 845 | 4 PT12 PT3/8
BAP1A0-D-28 28 250 270 290 5000 800 865 | 4 PT12 PT3/8
BAP1A0-D-3.5 35 250 270 290 5000 800 885 45 PT1/2 PT3/8
BAP1A0-D-4.1 44 250 270 290 4000 800 905 | 4 PT112 PT3/8
BAP1A0-D-5.2 52 230 245 260 4000 800 935 | 415 PT112 PT3/8
BAP1A0-D-6.2 6.2 230 245 260 3500 800 96.5 49 PT12 PT3/8
BAP1A0-D-76 76 200 215 230 3000 600 1005 | 51 PT3/4 PT12
BAP1A0-D-9.3 93 180 195 210 2500 600 1055 | 536 PT3/4 PT12
BAP1AD-D-11.0 1.0 170 185 200 2600 600 105 | 5 PT3/4 PT12
BAP1A0-D-13.8 138 150 165 180 2000 600 1185 | 60 PT3/4 PT112




BAP1Q0

DRROBRAMT, FOKE
FH ENEITAISAE J1926/1
(1S0 J1926-1),

RERM, n4 M8 BTHERRER

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in
compliance with threaded port with

O-ring seal in truncated housing
SAE J1926/1(1S0O J1926-1).

273 Nm. To mount the pump, n.4 M8 screws,
with a torque wrench setting fixed
at27 +3 Nm.
0 i [
OUTLET INLET
715 M 382
e N 508 L 3
85
A L
i N i
3 1 8
1 = ] i o i ] M -
< = of T =
= _ = =] ‘@%’ i
2
« | 3 ‘ I
-,
— -
68 D
AA |
3.8
A& AR BAEN SREH BiEE Rt
Type Displacement Max pressure Max. speed Min. speed Dimensions
P1 P2 P M| L D d
BAP1Q0-D-1.4 14 250 210 290 800 9% | 59 J416UNF | 9/16-18UNF
BAP1Q0-D-2.1 21 250 210 290 800 100 | 60 J4-16UNF |  9116-18UNF
BAP1Q0-D-28 28 250 21 290 800 102 | 61 3J4-16UNF | 9/16-18UNF
BAP1Q0-D-35 35 250 210 290 800 104 | 62 | 3416UNF | 9/16-18UNF
BAP1Q0-D4.1 41 250 21 290 800 106 | 63 J4-16UNF |  OM6-18UNF
BAP1Q0-D-5.2 52 230 245 260 800 109 | 645 | 34-18UNF | 91B-1BUNF
BAP1Q0-D-6.2 6.2 230 245 260 800 #2 | 66 J4-16UNF | 916-18UNF
BAP1Q0-D-76 16 200 215 230 600 16 | 68 TI8-14UNF 3/4-16UNF
BAP1Q0-D-0.3 93 180 195 210 600 121 | 705 | 78-14UNF 3/4-16UNF
BAP1Q0-D-11.0 110 170 165 200 600 126 | 73 TI8-14UNF 3/4-16UNF
BAP1Q0-D-138 138 150 165 180 600 M| 7/8-14UNF 3/4-16UNF

26



27

BHM1A0

DA MAFEAMI, FOKE

HIGH PRESSURE GEAR PUMP

"D" and "d" ports are machined in

B FHEITHISAE J1926/1 compliancewith threaded port with
(IS0 J1926-1), 0O-ring seal in truncated housing
RETM, nd4 MBESTHERTH SAE J1926/1(1SO J1926-1).
30 £3Nm. To mount the pump, n.4 M8 screws,
with a torque wrench setting fixed
[ at 30+ 3Nm.
T/ ]
L]
M 27 102
L 19 82.55 6.4
9 86
- A
v
— | 1] %?3/'?% :Q ) _ j
B — ZNINZENERNZ| s = N :
/—\ | - \\\_/ (N =Al
= . 3| T A=t = —
N IR RN i = ||
i = AN/ ) = - ;
= - = v
D G1Jr4 D
AR
318
Pr-mRIEEHAER Pe=max peak input pressure = |
Pe-REEEEEEN Pc= max pressure continually as output counterpressure
PeRmEEEAER Pi=max peak input pressure continually
ik #E RREND BotiE RiEEE R
Type Displacement Max pressure Max, speed Min. speed Dimensions
Pi Pc Pp M L D
{emTrev) bar bar bar (rfmin) {rfmin) mm mm
BHM1A0-R-1.4-Q1 14 270 260 290 5000 800 825 4 34-16UNF
BHM1AO-R-21 -Qt 21 270 260 290 5000 800 845 43 34-16UNF
BHM1A0-R-28 -Q1 28 270 260 290 5000 800 86.5 44 3/4-16UNF
BHM1AO-R-35 -Q1 35 270 260 290 5000 800 885 45 34-16UNF
BHM1AO-R-4.1 -Q1 41 270 260 290 4000 800 905 4 34-16UNF
BHM1AO-R-52 -Q1 52 260 250 275 3500 800 935 475 34-16UNF
BHM1A0-R-62 -Q1 62 260 250 275 3000 800 96.5 49 3/4-16UNF
BHM1AO-R-76 -Q1 76 230 220 245 3000 600 1005 59 718-14UNF
BHM1A0-R-93 -Q1 93 210 200 225 3000 600 1055 535 7/8-14UNF
BHM1A0-R-110 -Qf 1.0 200 190 215 2500 600 1105 56 7/8-14UNF
BHM1A0-R-138 -Qf 13.8 180 170 185 2200 600 1185 60 7/8-14UNF




BAP1

HIGH PRESSURE GEAR PUMP

BIZ/FRONT COVER Hh{B/SHAFTS
% 315 2
15 5| o
: ] i
i N =] =
£ J‘L — | e ?—-} - — E‘j
= 18 == 2jl # I =
<7 3 <7 3
L G0
BAHE RAAE BAHE
Max.Torque 100 Nm Max.Torque S5Nm Max.Torque 45 Nm
2 7 27
19 19 19
™ =
| | |
2 +-F= ! : 5
: ! ~ : E |
SHEE SR~ P
& 318 DP20/40-30° ~T < 4
(0] 80
RAHE RAHE RAHE
Max. Torque 60 N Max.Torque 100 Nm Max.Torque 1
85 382 05 8
508 = ——— -—
: U
SOy g %
" & % % |
3 i E = - =
U - 1 9
s l ~ |- A~ @ 5
3 & 318 DP20/40-30° 9T i
L (2] 81
RAHE RAHE RAHE
Max.Torque 100N Max.Torque %N Max.Torque 45N




HIGH PRESSURE GEAR PUMP

BAP1 [BHP1

i [/PORTS
f')\
/‘l \
g -+
8 7
o A 0 0
' &
nd Cle)
. K] BAP1..14 : BAP1..138 N | 18 | M6 | N | 18 | M
- B woRe o H#0
. TYPE PORTS CODE INLET OUTLET
=
|
BAP1.14 + BAP1.35 L0 G12 G318
BAP1.41 : BAP1.138 | L Gi2 _ G2
BAP1.14 + BAP1.35 L2 638 638
N ks WoRe i##0 i
g TYPE PORTS CODE INLET OUTLET
-
BAP1.14 + BAP1.62 RO PTIR2 PT3/8
BAP1..76 + BAP1..138 RI PT34 PT12
RO/R1/R2/R3 BAP1..14 + BAP1..138 R2 PT1R2 PT1/2
BAP1.14 + BAP1.62 RS PT38. PT38
i woRe i#0 H#0
TYPE PORTS CODE INLET OUTLET
BAP1.14 + BAP1.62 uo 34-16UNF 9/16-18UNF
BAP1.76 + BAP1.138 ut 7/B-14UNF 34-1BUNF
BAP1.14 + BAP1.62 uo 3/4-16UNF 3/4-16UNF
UOUTU2IU3 BAP1.76 + BAP1..138 Ut TI8-14UNF TI8-14UNF

29



